

(3)

(b) the equation of the normal.

1.  $y = 2x^2$

at point (1, 2)

$$y = 2(1)^2 \\ = 2$$

at point 2

$$y = 2(2)^2 \\ = 8$$

2.  $y = 3x^2 - 2x$

at point 2

$$\frac{dy}{dx} = 3(2)^2 - 2(2) \\ = 12 - 4 \\ = 8$$

at point 8

$$\frac{dy}{dx} = 3(8)^2 - 2(8) \\ = 3(64) - 16 \\ = 192 - 16 \\ = 176$$

3.  $y = \frac{x^3}{2}$

at point -1

$$\frac{dy}{dx} = \frac{3(-1)^2}{2} \cdot \frac{(-1)^3}{2} \\ = -\frac{1}{2}$$

at point  $-\frac{1}{2}$

$$\frac{dy}{dx} = \frac{3\left(-\frac{1}{2}\right)^2}{2} \\ = -\frac{1}{6} \times \frac{1}{2} \\ = -\frac{1}{12}$$

4.  $y = 1 + x - x^2$

at point -2

$$\frac{dy}{dx} = 1 + (-2) - (-2)^2 \\ = 1 - 2 - 4 \\ = -5$$

at point  $-\frac{1}{2}$

$$\frac{dy}{dx} = 1 + \left(-\frac{1}{2}\right) - \left(-\frac{1}{2}\right)^2 \\ = 1 - \frac{1}{2} - \frac{1}{4} \\ = \frac{1}{4}$$

5.  $y = \frac{1}{x}$  at the point 3

$$y = \frac{1}{3}$$

at the point  $\frac{1}{3}$

$$y = 3$$

2

$$4. y = 1 + x - x^2$$

at point -2

$$\frac{dy}{dx} = 1 + 1 - 2x$$

$$= 2 - 2x$$

$$= 2 - 2(-2)$$

$$= 2$$

at point -5

$$= 2 - 2(-5)$$

$$= 2 + 10$$

$$= 12$$

$$5. y = \frac{1}{x} \text{ at the point } (3, \frac{1}{3})$$

$$\frac{dy}{dx} = x^{-1}$$

$$= -x^{-2}$$

at point 3

$$= -x^{-2}$$

$$= -(3)^{-2}$$

$$= + \frac{1}{9}$$

$$= \frac{1}{9}$$

$$\frac{dy}{dx} = -x^{-3}$$

$$= -\left(\frac{1}{3}\right)^{-3}$$

$$= + \left(\frac{1}{27}\right)$$

$$= \frac{1}{27}$$

Name: Pam Sydney Dusz  
Course Title: General Mathematics III  
Course Code: MAT 104  
Department: MBBS.

1

### Question

For the curves in Problem 1 to 5, at the points given, find

- the equation of the tangent and
- the equation of the normal.

- $y = 2x^2$  at the point  $(1, 2)$
- $y = 3x^2 - 2x$  at the point  $(2, 8)$
- $y = x^3/2$  at the point  $(-1, -1/2)$
- $y = 1 + x - x^2$  at the point  $(-2, -5)$
- $y = 1/x$  at the point  $(3, 1/3)$

### Solution

a. The equation of the tangent:

- $y = 2x^2$  at the point  $(1, 2)$   
at point 1                      at point 2

$$\begin{aligned} \frac{dy}{dx} &= 4x \\ &= 4(1) \\ &= 4 \end{aligned}$$

$$\begin{aligned} \frac{dy}{dx} &= 4x \\ &= 4(2) \\ &= 8 \end{aligned}$$

- $y = 3x^2 - 2x$   
at point 2

$$\begin{aligned} \frac{dy}{dx} &= 6x - 2 \\ &= 6(2) - 2 \\ &= 10 \end{aligned}$$

$$\begin{aligned} \frac{dy}{dx} &= 6x - 2 \\ &= 6(8) - 2 \\ &= 46 \end{aligned}$$

- $y = x^3/2$   
at point -1

$$\begin{aligned} \frac{dy}{dx} &= 3x^2 - 0 \\ &= 3(-1)^2 \\ &= 3 \end{aligned}$$

$$\begin{aligned} \frac{dy}{dx} &= 3x^2 \\ &= 3(-1/2)^2 \\ &= 3(1/4) \\ &= 3/4 \end{aligned}$$